Math 118 / Final (December 14, 2018 ) DO NOT WRITE YOUR NAME ON THIS EXAM page 6
5. [10 points]
a. [5 points] Using an appropriate Taylor series for e*, determine whether the integral
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Circle one: CONVERGES DIVERGES

Justification:
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b. [5 points] Using a Taylor series for a function f(z), compute the exact value of E FnT"
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(Hint: Consider the function : )
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Answer: This is a value of a Taylor series for the function f(z) = (-x)*

The radius of convergence of this Taylor series is (No justification needed)

o o]

94 =
Finally, Y 1t = /4 =225
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